20245%4A %
B : P
Ty % PN B E B E
S BRE] Rt (%)
SHlr=yEs 1kWhizD & 4,95 -
s E 1kWhiz> = 5.02 3.22
1® £ 1kWhiz> = 5.20 1.70
BRI E 1kWhiz> = -6.63 -
E —
= 1kWhizD = -6.79 -8.59
Wﬂj;ijﬁ% ESSTA XA [1E2HICOERIDWhE T -56.24 -84.24
& E | EEBTA) |kidzzzx21kWhicox -7.02 -10.52
LS |1kWhizo & -7.02 -10.52
SHlr=yEs 1kWhizD & 418 -
s E 1kWhiz> = 4.23 2.43
ESSTA XA 12ZIC > ERADI5kWhE T 66.33 13.83
% E (EEEITA) FE% 2 B1kWhizD = 4.42 0.92
st 1kWhiz> = 4.42 0.92
B 7
SHlr=yEs 1kWhizD & -6.73 -
s E 1kWhiz> = -6.82 -8.62
Wﬂj;ijﬁ% ESSTA XA [1EHICOERYNISkWhE T -106.49 -158.99
& E | REBHA) |t5%zz51kWhico= -7.10 -10.60
EELSL |1kWhico & -7.10 -10.60
SHlr=yEs 1kWhizD & 5.58 -
s E 1kWhiz> = 5.76 3.96
ESSTA XA 12ZIC > TR DLI5kWhE T 90.53 38.03
% E (EEEITA) FE% 2 B1kWhizD = 6.03 253
, st 1kWhiz> = 6.03 2.53
SHlr=yEs 1kWhizD & -6.72 -
s E 1kWhiz> = -6.87 -8.67
W*—f;i%% ESSTA XA [1EHICOERINISkWhE T -106.75 -159.25
& E | REBHA) |t5%zz51kWhico= -7.11 -10.61
EELSL |1kWhico & -7.11 -10.61

KBUSIC L 5 [BRUMSRERERINEEE] ICL2FBEICEK
FRlmERIRA LY £, )

EENTVET,

CE)HERSHIABRZEZEHET,

Y, 5| Effi (EE : 3.50M/kWh, &E : 1.80/kWh) #'




